UNIT 16: ASPECT AND CORRELATION. STATIVE AND DYNAMIC VERBS 


1.a. Underline the VPs in predicator position and identify the grammatical categories marked on them. Follow the examples.
It had been raining for three days. I was working on Casanova’s profile that night and still not getting very far. A friend of mine from the FBI returned one of my phone calls around 9 p.m.


I had originally met Special Agent Kyle Craig during the long, difficult manhunt for the serial kidnapper Gary S. Kyle had always been a straightforward guy. 


“Thanks for returning my calls,” I said over the phone. “Where are you working these days?”


Kyle surprised me with his answer, “I’m here in Durham, Alex. To be a little more precise, I’m in the lobby of your hotel. Come down for a drink. I need to talk to you.”


“I’ll be right down. I’ve been wondering what H. has been up to since he faked his own death.”

	Tense 

(time location)
	Perfect aspect/Time correlation

(external view)
	Progressive aspect 

(internal view)
	main verb

(state or action)

	past
	perfect
	progressive
	rain

	past
	non-perfect (simple)
	non-progressive (simple)
	return

	……………….
	…………………..
	………………..
	……………….


b. Which of the above VPs illustrate the following statements? 
1. Progressive and perfect aspect (correlation) are not mutually exclusive; they can be present within the same VP.

2. VPs that do not have aspect marked on them are usually said to be “simple”.
3. Progressive and perfect aspect (correlation) combine with tense. 

4. Tense and aspect are marked in a fixed sequence within analytical VPs. They build up the VP from left to right, followed by the main verb in final position.
2.a. Match questions A and answers B.

       A

(1) Did you go to Depeche Mode’s concert?
(2) Why didn’t you answer my calls? 
(3) Have you read anything by Stephen Hawks?

(4) Where are the others?

(5) What are you doing?

       B

(a) They are having classes.

(b) I’m trying to fix the coffee-maker.

(c) Yes. I’ve just read one of his books.

(d) No, I was at a party last night.

(e) I’d left my cell phone at home. 

b. How do tense and aspect (both progressive and perfect) differ?

	CONCLUSION
	
	When describing an event, we have a pool of options to choose from. We have the category of ………………….. to locate the event along the time line, the category of ……………………to present it from an internal perspective, and the category of …………………. to show how it is related to a specified reference point or another event.


ASPECT

As an internal view on the situation, progressive aspect is closely related to the activity, i.e. the verb. It can be expressed lexically (e.g. run vs. jump) or grammatically (e.g. be running vs. run). Languages vary in their treatment of aspect.
3.a. Translate the following sentences into Bulgarian.

(1.a.) The children were running towards the front door.
   (b) They ran downstairs as fast as they could. 
(2.a) John stood at the door, watching the children play.

   (b) If I stand on tiptoe, I can reach the shelf.
(3.a) Mary found a dollar under the table. 
   (b) Each morning Mary found a dollar on the kitchen table. 
b. Translate the following sentences into English.
1.а. Aлек Попов е плодовит писател – пише по роман на година.

   b. Сега пише 6-я си роман.

2.а.  Снощи бях толкова изнервена, че цяла нощ плетох ръкавици. 
   b.  Снощи изплетох  чифт ръкавички за бебето на Катя. 

3. а. Цял ден ядох само ябълки. Опитвам се да отслабна.

    b. Днес изядох три ябълки и се чувствам отлично. 

4. а. Цяло лято четох  „Ана Каренина”, но така и не я прочетох. 

    b. Снощи прочетох писмото ти до градската управа.

5. а. Тодор чете много усилено за предстоящите изпити.

    b. Тодор чете средно по книга на седмица.

   c. Compare the verb forms in English and Bulgarian and discuss how they express progressive aspect.
4. Explain what is wrong with the following sentences. What are the errors indicative of?

* I’m disliking spinach.

* Are you understanding this text?

* Nobody is knowing my new e-mail address.

* This book is including a detailed historical overview.

	CONCLUSION
	
	The inherent nature of the verbal activity can be expressed by the category of ……………… through the opposition of its two members: …………… and ……………….. Depending on the meaning of lexical verbs, some of them cannot be marked for progressive.   


STATIVE AND DYNAMIC VERBS
According to their inherent features, lexical verbs are stative or dynamic. Stative verbs imply no change of state, while dynamic verbs include in their meaning some kind of unfolding of the event with change implied.
5.a. Which of the underlined verbs are stative and dynamic in the given context?

1. This tank HOLDS precisely 10 litres.

2. HOLD the handle very firmly.

3. He IS a fool. I won’t LISTEN to him.

4. I WAS BEING a fool. I WAS DRIVING too fast.

5. We HAVE only two tickets, I AM afraid.

6. I WAS HAVING my coffee quietly.

7. I CONSIDER you ACTED wisely.

8. We SHALL CONSIDER your application.

b. Mark the following statements as True or False.

(1) A stative verb can have a dynamic use and vice versa.

(2) Only stative verbs can be used in the progressive form.

(3) The duration of the action described by the verb is not relevant to the use of progressive aspect.
6.a. Copy the following verbs in the right columns. 

hear, believe, change, belong, write, pound, want, grow, taste, contain, work, jump

	STATIVE VERBS
	DYNAMIC VERBS

	
	Momentary      
	Durative

	Mental
	Perceptions
	Relations
	Acts
	Activities
	Processes

	know, like, hate, understand,

……………..


	see, feel, 
……………..
	be, have, own, resemble,

………………
	strike, hit, throw

…………….
	eat, run, swim, walk, 
…………..
	become, flow, 

…………….


b. Choose verbs from the completed table and write suitable forms in the gaps.

(1) Tim ...........................some of his classmates arguing in the corridor. 
(2) Some people ……………………..everything they hear or read.

(3) My business ………………..ever since they built a metro station nearby.

(4) The words “cook“ and “fry” ………………….to the same semantic field.

(5) Somebody …………………on the front door and ………………my name.

(6) Sorry, I can’t join you – I (still)…………………….my homework.
	CONCLUSION
	
	The meaning of a lexical verb reflects the internal structure of the event. This meaning is known as ....................aspect. In view of this notion verbs are classified into two main categories: ......................... and ................., and a number of subcategories such as: a) ........................., b).............................., c)........................, d) ......................., e)............................... and f) ……………….Aspectual interpretation of the verb phrase depends on both .............................. aspect and .……………….. marking.


PEREFECT ASPECT (CORRELATION)

As an external perspective, perfect aspect (correlation) is more closely related to the situation of utterance than the activity itself. Viewing the former in retrospect, it presents it as anterior to some other situation or focal point. 
7.a. Put the sentences in the right order to produce a coherent text. Begin with:
(0) Jake found his personal assistant in the conference room up to her elbows in law books. 

(1) She reached the same conclusion Jake had reached – it wouldn’t work.

(2) He had been acquitted, but the differences in that case and their case were enormous. 

(3) She had typed thirty-one pages of research on the defense of justifiable homicide, something Jake had considered briefly after the killings. 

(4) Jake was irritated. He had not asked for the brief, and so much energy had been spent on it. 

(5) He said nothing, however, since she had produced everything he had asked for so far. 

(6) “Have you discussed it with anyone else?” No, she hadn’t.

(7) She had found an old Mississippi case where a man had caught and killed an escaped convict who was armed. 

(8) “Have the others been served a copy of this?” Jake asked. She shook her head. 

b. Compare versions with a partner. Discuss the order of events.
8.a. Underline the parts of the sentences that indicate anteriority.
(1) Some guests arrived five minutes before the ceremony began.

(2) When the match finished, the fans rushed out of the stadium chanting anti-mafia slogans.

(3) Are you sure that the invitations will have arrived by the Christmas party?

(4) Before Tom met Jennifer, he was an average student more concerned with romance than research.

(5) Five terms in the Mississippi Legislature had corrupted him and taught him the art of political swindling and manipulation.

(6) Before he became judge for the Twenty-second Judicial District, he was a lawyer with

      meager skills and few clients.

(7) The committee has had two emergency meetings so far.

(8) I hope you have already read the instructions.

b. How is anteriority expressed?

9. Make one sentence out of two, relating situations (a) to situations (b) as in the example.

Example: 

a. Claire Mikes worked as an assistant teacher for two years.


b. Claire Mikes found a full-time job as a teacher.

( She had worked as an assistant teacher for two years when she found a full-time job as a teacher.


1. a. Mary Smith applied for the job of external consultant with Nokia. 

                b. Mary Smith worked for a number of rival companies. 


2. a. The Johnsons lived as New Age Travellers for a long time.

                b. Their son was born in 2006.


3. a. I first saw that gorgeous house a few days ago. 


    b. I just moved to that area.


4. a. Geoff was introduced to Mr. Snape’s new wife. He realized something.


    b. He met her five years before that evening in not very favorable circumstances.


5. a. I arrived at the university at half past ten. 

                b. The exam began at 9 o’clock. 

	CONCLUSION
	
	When we describe sequences of events, we indicate how these relate to one another. This can be expressed through explicit temporal linkers or through the category of ………………… .


10. Read the original text and its translation. Edit the exponents of aspect and correlation where necessary.
The passage of time had done little, Tony saw, to change the face of Steelton. Nothing could reverse the way soot and harsh weather had seeped into the pores of gray and concrete buildings. Tony had always imagined Eastern Europe as gray and feudal; in his mind, the Poles and Checks and Lithuanians and Slovaks who had settled in Steelton were predisposed to the bleakness that the Calvinist barons who had built the mills and factories had done so much to provide. Approaching the office of the county prosecutor, a forties-style concrete bunker next to the courthouse, Tony recalled uncomfortably that his fate once had been decided here; he thought if some file with his name on it was still stored in its bowels.
Тони видя, че изминалите години почти не бяха променили облика на Стилтън. Нищо не можа да изличи следите от саждите и суровия климат, които се бяха просмукали в порите на сивите бетонни сгради. За Тони Източна Европа винаги беше била сива и изостанала. В съзнанието му поляците, чехите, литовците и словаците, които се бяха заселили в Стилтън, бяха свикнали със сивотата, за която до голяма степен бяха допринесли магнатите-пуритани, които бяха построили заводите и фабриките. Като приближи офиса на областния прокурор - бетонна сграда до съдебната палата в стила на 40-те, Тони с неудоволствие си спомни, че някога тук се решаваше и неговата съдба; мислеше си дали из нейните хранилища не се намираше все още някоя папка с неговото име. 
ADDITIONAL PRACTICE – UNIT 16

1. Represent each VP by a string of tense + perfect aspect (correlation) + progressive aspect.

1. I’ve studied English for over ten years.

2. I have attended lectures almost every day this semester.

3. When I joined the group again, my colleagues had discussed two more topics.

4. I have been reading that book.

5. The students have been getting better and better.

6. We had been planning a long vacation in Paris, but changed our minds when we heard about your plans.

7. John will have been keeping a journal for ten years next month.

8. I have run a 10-mile distance before.

9. You have been drinking again!  

10. Call me at 5 o’clock tomorrow; I will have finished by then.  

2. Fill in the gaps, paying attention to the appropriate tense and aspect marking.

1. You might as well take the parcel tomorrow - the post office ……….(close) by the

time you get there if you go now.  
2. You will like Clare, she is one of the nicest people I ......... (ever / meet). 
3.  Do you realize that next Friday is 18 August, and then we………..(know) each other

 for exactly four years? 
4. My brother
(change) so much since our last meeting that I hardly recognized him. 

5.  The garden looks so much better now that all that rubbish .................. (take away). 

6.  Let's meet up after I come back from my holiday — we'd better not say Monday 19th, because I .................. (only just / get back). What about the following Thursday? 

7.  She was horrified to discover, on returning home, that her entire flat .................. (ransack). 
8.  I found my first few weeks at the office very tiring because I .................. (never / have)

a full-time job before. 

9 . I tell you I am completely innocent - I................... (not / do) anything. You've got the
wrong man. 
10.  I blushed profusely; .................. (I / never / find) myself in such an embarrassing position

before. 
3. Compare the VPs in sentences (a) and (b). Explain how completion of the activity is marked in (b). 

1.
a. My old uncle Jim drinks like a fish.

b. Drink up the tea, will you. 

2.
a. “Here they come”, said Bob, looking out of the window.

b. Have a look at this. 

3. 
a. The new MP was pushing hard for welfare reform.

b. She gave the coffee table an angry push and stormed out of the room. 

4. 
a. The mother looked at the jumping children and laughed.

b. They laughed him out of the room.
5. 
a. The boy stood against the wall.   
b. They stood the boy against the wall. 
6.         a. Mary is on a diet and she eats only vegetables.


b. Eat up you porridge or you will make yourself ill.

4. Define the verbs below as stative or dynamic.
1. We changed the subject.    

2. He ran his head against the door in the dark corridor.    

3. He turned pale.   

4. That stuff will wear for years.    

5. Fashions change. 

6. We boiled the water. 

7. It was so quiet you could hear a pin drop.

8. Please pass the salt.   

9. The water is boiling. 

5. Fill in the gaps with when or while.
1. ……………. I met Betty Johnson, her parents were sailing across the ocean.

2. Unfortunately, they got caught in a storm ………………….. they were approaching the shores of Australia.

3. ………………. the situation got out of control, Mr. Johnson asked his wife to go below and send a distress signal.

4. ……………… Betty’s father was trying to take control of the yacht, he slipped and hurt his leg.

5. A patrol boat was checking the area ……………… they received the signal and sped to the spot.

6. ……………. the coast guards arrived, Mrs. Johnson was trying to help her husband.

7. It seems that ……………. Betty and I were having fun, Mr. and Mrs. Johnson were fighting for their lives. 

6. Fill in the gaps with just, already, still, yet, or ever, never.

1. The show has …………….. started when we arrived.

2. If you’re …………….. in Bulgaria, come and see me.

3. The man you have ………….. described cannot have committed the crime. He has an alibi.

4. I have ……………… for one moment imagined that they’ll discover my secret.

5. We …………. do not know exactly what happened.

6. We don’t ………… have a solution to your problem.

7. Is it 7 o’clock ……………? It’s hard to believe!

7. Complete the questions in the table with the right forms of the verbs. Follow the example.  

	cut a wisdom tooth 

burst a tyre lay a carpet dig a deep hole  ring an alarm bell   grind an axe  shine a beacon  tear a muscle   sow a melon seed  split a pair of trousers    spill a bottle of ink  swing a lasso  take a sleeping pill  tread on a scorpion wind a reel of thread




	
	Have you ever…………?
	When did you……….last?


	I ……… last year.

	swim across the Danube
	swum
	swim
	swam

	
	
	
	


8. Complete the text with suitable forms of the verbs in the box.

drink

smile

sit

shake

cry

 wear 

try

“Wake up!” Eugenie 1……………………… her mother. “If you go to bed in the daytime you won’t sleep tonight.”
Barbra opened her eyes and sat up with a groan. Then she heard her son’s voice. Jordan 2…………………. again.

“Where is Mrs. Petersen?” she asked.

“Out there” Eugenie pointed to the door. She 3……………….. to help Barbra up.

Barbra stood up and, although she 4………………… only her nightgown, she quickly went outside the bedroom door.

The babysitter 5……………………………… in the living room and 6……………….. from a large glass of sherry. 

“I helped myself,” she said, not at all abashed. As a matter of fact, she 7…………………….“I needed it”.
9. Complete the text with suitable VPs.

When he 1…had drunk… his coffee and 2 ………………… his sandwiches, Jeff went out. He had no doubt that the woman he 3…………………. the day before was Sonya. This was the first time he 4…………………. sure about that. The glimpses he 5………………… of a dark woman at a window in Abby Gardens Mansions 6………………….. she and might not. When he 7………………… her in Long Fredington, she 8………………………… a sweatshirt and jeans. It was a matter of chance that he 9…………………… her the day before.
1.  10. Translate into English. 
2.  Тогава Принцът почукал на вратата, която се отворила сама. Той влязъл в огромната стая и видял старата вещица, седнала до камината.

3.  Кога си я виждал преди?

4.  А: Кой си е играл с телефона ми? Б: Никой не е пипал телефона Ви откакто излязохте.

5.  Миналата година ходих до Италия само два пъти.

6.  Много съм уморен – само през последната седмица ходих на 5 официални вечери и 3 коктейла.

7.  Не е вярно, че си ме търсил в 5 - аз бях там от 3.30 нататък.

8.  Откакто започна работа в тази фирма, постоянно говориш за шефката си.

9.  Откакто сме тука, постоянно говориш за шефката си.

When we talk about events, besides denoting their location in time via tense, we often characterize the way in which we experience or view the situation. A situation viewed from the inside can be represented as either fixed or changing. When viewed from the outside, it can be presented relative to another situation. The internal perspective is expressed by progressive aspect (e.g. is writing vs. writes); the external – by perfect aspect (correlation) (e.g. has written vs. writes). It is possible for tense, progressive and perfect aspect to be simultaneously marked within the same analytical VP (e.g. has been writing).
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